
Signal Region Nobs Nexp 〈εσ〉95obs [fb] S95
obs S95

exp p(s = 0)

SR``-m`` [1, 3] 1 1.7± 0.9 0.10 3.8 4.3+1.7
−0.7 0.50

SR``-m`` [1, 5] 4 3.1± 1.2 0.18 6.6 5.6+2.3
−1.0 0.32

SR``-m`` [1, 10] 12 8.9± 2.5 0.34 12.3 9.6+3.2
−1.9 0.21

SR``-m`` [1, 20] 34 29 ± 6 0.61 22 17+7
−6 0.25

SR``-m`` [1, 30] 40 38 ± 6 0.59 21 20+9
−5 0.38

SR``-m`` [1, 40] 48 41 ± 7 0.72 26 20+8
−5 0.20

SR``-m`` [1, 60] 52 43 ± 7 0.80 29 24+5
−10 0.18

SR``-m100
T2 [100, 102] 8 12.4± 3.1 0.18 7 9+4

−2 0.50

SR``-m100
T2 [100, 105] 34 38 ± 7 0.49 18 23+7

−7 0.50

SR``-m100
T2 [100, 110] 131 129 ± 18 1.3 48 47+13

−15 0.37

SR``-m100
T2 [100, 120] 215 232 ± 29 1.4 52 62+21

−15 0.50

SR``-m100
T2 [100, 130] 257 271 ± 32 1.7 61 69+22

−17 0.50

SR``-m100
T2 [100,∞] 277 289 ± 33 1.8 66 72+24

−17 0.50


